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Question: 1 
   
Which two dependencies do you directly enforce with a Wait step? 
(Choose Two) 
Response: 
 
A. Pausing a case until a new child case is created 
B. Pausing a case until a user submits a specified value 
C. Pausing a case until another case (or all cases) reach a specified status 
D. Pausing a case until a predetermined time expires 
 

Answer: C,D     
 

Question: 2 
   
You want to display an error message to the user if the data page fails to retrieve data. The data page is 
sourced by a REST connector. How do you detect the error? 
Response: 
 
A. Use a transition condition in the activity step invoking the connector. 
B. Use the error handler flow on the connector. 
C. Apply the standard pxErrorHandlingTemplate data transform in the response data transform. 
D. Use a when condition in the response data transform configured for the connector. 
 

Answer: C     
 

Question: 3 
   
Which layer of the Enterprise Class Structure contains generalized assets that are then extended by 
specific implementations? 
Response: 
 
A. Organization 
B. Framework 
C. Implementation 
D. Division 
 

Answer: B     
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Question: 4 
   
Which of the following would be typical data stored in a local data source? 
Response: 
 
A. Delivery options 
B. Customer details 
C. Case data 
D. Insurance policy data 
 

Answer: A     
 

Question: 5 
   
You want to create a reusable font style for buttons, and links. To do this, you would create a 
___________. 
Response: 
 
A. mixin 
B. control 
C. Format 
D. overlay 
 

Answer: A     
Question: 6 

   
Your application contains the following versions of a service level named AuthorizeCIaim. 

 
The application is being updated. As part of the update, the service level is no longer circumstanced for 
AccountOpen cases. Which two options can you use to reset the circumstancing for the AccountOpen 
case type? 
(Choose Two) 
Response: 
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A. Update the base rule to the new ruleset version and select the base rule option. 
B. Withdraw the circumstanced rules in the AccountOpen class. 
C. Copy the base rule to the AccountOpen class and select the base rule optiorl. 
D. Block the circumstanced rules in the AccountOpen class. 
 

Answer: C,D     
 

Question: 7 
   
Which two conditions do you test with a unit test? 
(Choose Two) 
Response: 
 
A. An application displays user views for 20 users within three seconds. 
B. A property value is set correctly by a data transform. 
C. An application is successfully migrated to a test system. 
D. A data page populates without any errors. 
 

Answer: B,D     
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